Esame di Acustica Applicata del 09/02/2015

Cognome e Nome:



Matricola:                                                                C.Laurea: 

1° Esercizio – Acustica (tolleranza +/- 0.5 dB)
A large room contains three sound sources, having power levels Lw of 100, 103 and 105 dB respectively.

The room has a volume of 1200 m3, and the reverberation time is 4.0 s.

Compute the average value of the SPL in the room:


· Average SPL in the room


                                      dB       


As the SPL is judged too large, a sound absorption treatment is installed, which reduces the reverberation time  to 1.0 s. Compute the new value of the average SPL in the room:


· Average SPL in the room
after treatment

              
  dB       


If the room treatment was done employing “tube traps” absorbers, each of them providing an equivalent absorption area of 0.75 m2, how many tube traps have been installed?

· Number of “tube traps” installed


              
         


Prova Orale


Argomento:                                                                                                               Punti:
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